Chem 51, Spring 2015 NAME
Exam 4 (Chp 4) 95 pt

a7
Answer Questions 1-20 on your scantron. Each question is worth 2 pt.

1. {(4) Carbon atoms always have how many covalent bonds?
A)one B) two C) three D) four E) five

Chp 4.1 _
2. (4.1) Which of these compounds ts a cycloalkane?

A) CH2=CHCH=CH2 B) Ej C) CH,-CH=CH, D) ‘ E) @

3. In question 2 (above) which structure is cyclopentane?

4. Which of the following condensed structure is correct?
H

_ He_ _H
[ OH ?Hz H,
A b B),, CH _OH @ o |
Hac/ \GH, )Hac CH, CH:NI-T H, He /GI—LGH
)

5. How many hydrogen atoms does this molecule have (the hydrogen atoms in organic compounds are frequently
“understood” and not shown in the structure)? C=C-C=C
A)4 B)6 C)8 D) 10 Ey12

6. A compound that is composed of only carbon and hydrogen is known as a(n):

A) hydrocarbon -~ B)isomer C) homolog D) carbohydrate

7. Which of the following names and formulas for cylcoalkanes or linear alkanes is correctly matched?
A) Pentane/CsHy,  B) Cyclopentane/CsH;; D) Hexane/CqHa E) Cyclohexane/C¢Hi 4

Chp 4.2 _
8, Which of the following structures is cyclopentane?

A) l>‘ B)<> O Q D[:j

(6 pt) Draw the condensed structure for the following skeletal structure & write the molecular formula

Chp 4.3
9, Which of these functional groups is a thiol?
A)R-8-H B)R-O-H C)R-$-S-H  D)R-S-S-R'

10. Which of these functional groups is a phenol?
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Chem 51 o Exam 4 (cont)

(2 pt) What is the name of the group czrcled in the structure belaw?
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'11. The €=0 fcund in sevenal functional groups is known as
A) a ketone B) an amine C) a carbonyl dya carboxyhc acld

(10 pt) Mark and identify by name the functional groups found in aspartame, shown below.

O . ,« S

Cc—on b
é:FIo O H CH O -

© HoN- é,lﬁ C- ?1\1 - CH - i: o CH':;

(6.pt) Why are, fdtty acids known a_s' biological hydracarbons? State uf Iéa'st 3 s'_imilar'ities.'

12.. Which of the foliowing fatty acids is designated by the notation [18:2; 9, 12]
A palmitic acid  B. stearicacid ~ C.oleicacid = - D. alpha-linoleic acid E. EPA

(6 pt) Draw the fatty acid using the notation {18:3;7,10,13]

3.4 good descrlpuon of the C=Cin unsaturated fatty amds is~

A) All unsaturated fatty acids have. them, .
B} Polyunsaturated fatty acids have more than one,
" C) It’s always a trans C=C bond.
D) It’s aiways a cis C=C bond.
E) Sometxmes i’s acis and sometimes it’s a trans C“"(, bond
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Chem 51 Exam 4 (cont) Page 3
Select two answers for each fatty acid structure shown below,

14, A) Saturated
I N N N NP B) Monounsaturated
C) Polyunsaturated
D) Stearic acid
15. _ _ A) Polar
/\i:/\\/\/j B) Oleic acid
HOLC C) A [16:1;7] fatty acid
- ‘ D) ©-7
16, ' A) From beef
 HOC =/ LN N N B) From plants
C) From fish
D) 0-3
hp 4.4
17. What is the correct name for  A) pentane B) 2-ethylpropane C) 2-methylbutane D) 3-methylbutane
CH,-CH;
|
CH;CHCH,
18. What is the correct name for this alkane? CHy - CH3

A} 2-¢thyl-3-methylpentane I

B) 4-¢cthyl-3-methylpentane CHg-CH - CH -CHy - CHj
C) 3, 4-dimethylhexane éHB
D) 2, 3-diethylbutane -

E) octane

19. Which of the following structures is correct for 1,2-dibromo-2-methyl butane? :

A) CHg—CH—CHpEr B) B CHZCHa —CH—CHe ) CHcHs D)  BrCHy—CH—CHOHs
CHCH3Br CHg BrCH,—C—Br Br  CHy
CHa
Chp 4.5
20, Compounds that have the same molecular formula but different arrangements of atoms are called
A) isomers. B} isotopes. C) indicators. D) isozymes. E) isometrics.

21. What is the relationship between the following molecules?

CH,CH; CH;
'ft}Hz éHCH; : A) They are identical. '
I ' B) They are structural isomers of each other.
(*H,CH;—CH “?H“CHE“CH” CH-CHz C) They are different molecules which are not isomers.
C'H; CH.CH;
CHs
_ éHC H; CH,CH;
GH3CH2—CI-I-—-(‘1£H—-CHQ-GHmCH*GHgCHQCHg

16 pt
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(6 pt) Draw the structure for the 3 isomers of CsHyz using either Lewis, condensed or skeletal structures.

22. Is the follﬁwing pair of structures AT . '
a) different conformations S and CH3-CH-CH-CH; -

b) constitutional isomers . ' o ’
c) different co‘mp_ounds‘ : - __ . CH;.

23 The fdllowing two structures are ‘“ Y . _"(:i-l,,t::H(_&‘JH,,)2
A) Structural isomers -~ .~ B) Stefeb isomers ) The.same : _ | D) Not .isbmers:

24. The fqllqwiﬁg two st'rilctur'és.‘ arc . A B PR H>A<H N | |

| R . -H,é Con - BC od

A) Struchir_zﬂ isomers B) cis/trans isomers . C) Enaliﬁorﬁcr_s - D) The same E) Not
1somers . T v :

25, (4.5) Ch1ra11ty oceurs when smremsomers have mirror unages that are

A supenmposable B) the same C) not supenmposable D) not v151blc to one another E) identi'ca"l. ‘

8 ,gt) (4.5 Mark the stereocegters w:th ith a | “HD iy each of the followmg

- OH CH CHy—CH—CH3CHAGC Ha " CHsCHa—CH—CHa
. /\l/: . 3. 27 [ 2 2 3 CH3CH—CHCH2CH3 H3CH2 l Ak
i) . S 1)) CHQCHQCHE‘QH m s - 1v) OH -

CH a5 H;g ‘
6. In the pre,vmus Questlon Wthh compounds can exist as cis/trans 1sorners?
~ A)Tonly B)Ionly C)lonly - Dyland IV E)Iand m

27, Which of the following compounds is th_éénantmmer of: CHO-

H——C—CH
HO—C—H
. CH0H
o CHO ' ‘ “  ZI-ICHO CHO . ‘ CHO -
A ge-g—om B) ,'Ho“—lzljmf-ﬂ - © HO'._.;J;_._H- D) H‘.‘"CI:““DH
H—C—OH “H—C—OH HO‘;;A;.__.H ‘H“*J?—“QH
CH;OH '

T - |
CHOH CH;OH' k - CH,0H



